ciiT1 + ci2®2 + ...+ CipTy + Clpp1Trp1 + oo+ CpTy = dy

CTy + ... + CopZy + Copp1Trp1 + ... + CopZTy, = doy
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mit c¢;; #0 fr i=1,2,...;r; r<n,r<m
\begin{alignx}

\begin{split}\setlength\arraycolsep{3pt}
\begin{array}{rcrcrcrcrcrcrcr}
\rnode[tl]{aal}{\rnode[bl]{aalb}{\vphantom{d}c_{11}x_1}}
& + & c_{12}x_2&+ & \ldots & + & c_{ir}x.r & + & c_{1,r+1}x_{r+1} & +
& \ldots & + & c_{In}x_n & = & \rnode[tr]{aa2}{d_1}\\
& c_{22}x_2 & + & \ldots & + & c_{2r}x.r & + & c_{2,r+1}x_{r+1}
& + &\ldots & + & c_{2n}x_n & = & d_2\\
&&&&\hdotsfor{11}\\
&&&&&& \rnode [b1]{bbi1t{c_{rrix_r} & + & c_{r,r+1}x_{r+1} & +
& \ldots & + & c_{rn}x_n & = & \rnode[br]{bb2}{d_r}\\
L&k lb&&&&&&0 & = & d_{r+1}\\
L&y &L &L &&&& \vdots &\\
&L &yl &&&&&0 & = & d_{m}
\end{array}r\\
\text{mit } c_{ii}\neq O\quad \text{fr} \quad i=1,\,2,\,\ldots,\,r\,; \quad r\l
\end{split}
\end{alignx*}
\pspolygon[fillstyle=solid,fillcolor=green!30,
opacity=0.3,1linecolor=1lightgray] (aalb) (bbl) (bb2) (aa2) (aal)



